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02 =224l 3,240 2,160 1,080
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5 - 4
SN BA(SA) - MRAY - BES 0l &t o il HImEET
oz& S& e M 17,000,000 * 14 17,000
= 5,000
- 12,000
FHAANS HHMHI A 51,900 45,000 6,900
= 36,360
Al 10,360
- 5,180
CHRH At 51,900 45,000 6,900
= 36,360
Al 10,360
- 5,180
301 et A= 51,900 45,000 6,900
= 36,360
Al 10,360
- 5,180
01 MI28E+06l= 51,900 45,000 6,900
Oddt*H™ At XI& 51,900, 000& 51,900
= 36,360
Al 10,360
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o =2 100,000& 74 700
o dSEX, ELES 1,379,000 1,379
O A2 Qg 25 2,000
o ZAtHI 1,000, 000& 1,000
o MZHl 1,000,000& 14 1,000
e 23 dsgs N 197,256 123,196 74,060
Al 37,046
- 160,210
H=23d AMgEs X 97,800 14,000 83,800
203 YR =] 600 800 2200
03 A=A H =AY 600 800 2200
O+2std 29 g2 600,000 600
307 glz2tol & 97,200 13,200 84,000
02 RIZHE A E X 97,200 13,200 84,000
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Og=+2std AMHXE 13,200
o 22/l 1,000,000& = 12& 12,000
o IR EFHI 100,000& =123 1,200
OFstll=etE AEAY 84,000,000& 84,000
H=3235t@ elAdl 72,800 20,000 52,800
Al 15,000
- 57,800
307 gl2tol & 72,800 20,000 52,800
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- 57,800
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Al 15,000
- 5,000
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Al 22,046
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201 -4 4,000 4,000 0
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ORrsZgds g2 600,000 600
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= AF BE 103,220 103,500 A 280
201 £B-2dH| 2,520 3,500 A 980
01 At 22l 2,520 3,500 A 980
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SN 2HHSD
HHM: A I TA PE
Colr MBS 84 % X (el:de)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@i HRE2
Al 9,000
- 86,120
LOoOAHAMEDNA 29 3,200 3,200 0
Al 1,600
- 1,600
301 LBt A= 3,200 3,200 0
Al 1,600
- 1,600
10 HAFAIHI B a2 3,200 3,200 0
OXNEC2ZAIE A2 3,200,000 3,200
Al 1,600
- 1,600
MEYEWM3 XA 199,920 170,845 29,075
Al 10,000
5 189,920
201 et d| 38,220 1,070 37,150
Al 10,000
5 28,220
01 AR 2t2l ] 5,900 1,070 4,830
OZ2=21§ M 80,000& *203] 1,600
O&atE H & 15,000 x203l 300
OF=ZMNE AAS2H 4,000,000& 4,000
Al 2,000
- 2,000
03 A2 G H| 32,320 0 32,320
OO EMZENDA 29 14,400,000 14,400
O2&na 2494 1,920,000 1,920
ON=IZHMAE H3t20| At 16,000,000 16,000
Al 8,000
5 8,000
203 €2 F&d| 1,700 1,900 A 200
03 AIEH =X 2 F XY 1,700 1,900 A 200
OodMetx=s XA 1,700,000& 1,700
307 212t0| ™ 160,000 166, 320 AN6,320
02 QI2tA A X 20,000 16,320 3,680
OF=LAIHIESEE 4= K& 20,000,000& 20,000
04 QI2H8H AL R 140,000 150,000 A 10,000
Os=24 MEdsls X& 140,000,000 140,000
ARl E | S 0 3 30,000 30,000 0
Al 10,000
5 20,000
307 21240 30,000 30,000 0
Al 10,000
5 20,000




AN 23HSD
g H=s 32 TA 78
Sl MBS S8 L X CERED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
04 QIZtHALE & 30,000 30,000 0
O201BA 2 MM = 2 30,000,000& 30,000
Al 10,000
- 20,000
Nact? MaysXS A Xl 146,880 146,880 0
= 66,240
Al 47,520
- 33,120
307 21201 A 146,880 146,880 0
= 66,240
Al 47,520
- 33,120
02 2t A2 X 146,880 146,880 0
OXNSIHAUEMSAN =X 69
2,040,000& x6H 123 146,880
= 66,240
Al 47,520
- 33,120
Hzddsgs NJAAY 73,440 73,440 0
= 33,120
Al 23,760
- 16,560
307 21201 A 73,440 73,440 0
= 33,120
Al 23,760
- 16,560
02 22t a2 X 73,440 73,440 0
OZXNESESKNTA 2,040,000 «3H <128 73,440
= 33,120
Al 23,760
T 16,560
=R Z2E XN X BRI 27,480 24,480 3,000
Al 12,240
T 15,240
307 glz2tol & 27,480 24,480 3,000
Al 12,240
- 15,240
02 QIZtFNE X 27,480 24,480 3,000
OOl A 27,480
o ZTRMENSIA2EXE 2,040,000& 12 24,480
Al 12,240
T 12,240
0 RTMEUSISYNY 2=
250,000 »12& 3,000
AL IHRH ALY 133,660 128,520 5,140
= 93,562
Al 20,049




EX: S3Hs
HHM: A I TA PE
Sl MBS S8 L X CERED
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
- 20,049
301 et A= 133,660 128,520 5,140
= 93,562
Al 20,049
- 20,049
01 Al B & A 46 2 133,660 128,520 5,140
OAZXHIRH AME 133,660,000 133,660
= 93,562
Al 20,049
- 20,049
22 HSAIE 22 74,092 72,692 1,400
Z22HESAE 22 74,092 72,692 1,400
101 e1214| 36,900 36,900 0
04 JI2tHI22NEE S 36,900 36,900 0
OMESAE 22| 22| 36,900
oJdlea2 41,000 *3H * 120 x23] 29,520
o FExY 41,0002 *3H *x24F=x23| 5,904
o xRS 41,000 *3H «6 R x23] 1,476
201 et Y| 26,140 24,740 1,400
01 AP 22| d| 6,740 5,340 1,400
OMdet = 3AES 200,000 x12& 2,400
Og8AXMZIIENI LU= 200,000& x12& 2,400
OFx=I|Ud, 26 s 30,000 x12& 360
OME =4 AMERSsE 15,0002 x12& 180
OMEH=A HEY 20,000 *70H 1,400
02 222%4| 19,400 19,400 0]
OMNEEAIEAHl R XHI 5,000,000& 5,000
OFAMU MEMSA AMEHH KX H
300,000 x12& 3,600
OANMEZHSAH (dx=HES2LH LA 2
2/A=]Z) 300,000 304 A~ +12& 10,800
307 2Iz2to| & 11,052 11,052 0
05 QIZ2tR E 2 11,052 11,052 0
OdxH=s2d 22 &%l 200,000 x12& 2,400
OEsgZ2a=318 22 29Hl 200,000 ~12& 2,400
OdxH=s2d =228 et 800,000 6& 4,800
OdxHssd =228 RoFHEY
121,000 x12& 1,452
IxANSE X 10,000 12,540 A2,540
A== 2SN 10,000 12,540 N 2,540
307 2iz2to| A 10,000 12,540 N2,540
02 QI2tH AP X 10,000 12,540 N 2,540




2N

Z M = ot

HH: H] S CA P
o9 2RSS K (SHel: =)
SA-HB .Y (BH) - MBPAY - B2 O 4t 0t SSa H RS2
| | | O HSs 2sxd 10,000,000 10,000
NRSERIR 29 916,820 918,569 A 1,749
Al 100,000
2 816.820
NR2EAIR 29 916.820 918,569 A1,749
Al 100,000
2 816.820
AHREAIL 29 916,820 918,569 A1,749
Al 100,000
? 816.820
201 YLt A H| 87,840 87.840 0
01 At 22l bl 63.360 63,360 0
oY+ gY| 3,600,000 3,600
ozl 59,400
o MaT A 400,0002 * 112 x 122 52,800
o MATH Hca | 50,0002 * 112 x 122 6,600
OF2I|U0E ¥ ZEHDS 30,0008 * 128 360
02 T2 24,480 24,480 0
OZANARS L AHUWAIR2 5,000,000 5,000
OxAzeld € SXNE% 6,000,000 6,000
OclzgzZ 2 PZAE Y 2,000,000 2,000
oxzsxzel 11,480
o BANMHRSS 150,000 *23] 300
o NEXNEES 500,000 *13] 500
0 BHEXHA 80,0008 *13] 80
o XteFa ety 10,600
- 22| 1,7502 *4,0002! E 7,000
M 300,000 * 12 3,600
202 Ot 12,000 12,000 0
01 2404 b 12,000 12,000 0
OWal ¥ ®XS2 ot 12,000,000 12,000
203 Y2 =ZH| 2,500 3,300 800
03 Al = F & 2= A 2,500 3,300 800
ONZSSIZIEL2Y Y2=F  2,500,0002 2,500
301 LB A2 814,480 814,480 0
Al 100,000
2 714,480
Nosoa - 2es2sEa3 796,980 796,980 0
ONEE 24 796,980,000 796,980
Al 100,000
2 696,980
12 JIEtE A 2 17,500 17,500 0




2N 23S Y
M AFRSEYIR 29
oo NR2SZHIR 29 (ol &e)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
| | | 022 Zojsd X 17,500,000 17,500
HH2AHH (2SHSD) 42,640 160,458 A117.818
oAy (23S L) 10,692 126,953 A 116,261
o2y HMRAY (23S 10,692 126,953 A 116,261
101 @124 8] 10,692 126,953 A 116,261
02 JIEFE B4 10,692 107,299 96,607
OANZHHLRZRA"LH"S 10,692
o 20 7,165,2002 7,166
o Elx=z 117,5302 x30Y 3,526
JI2ZH(23MS D) 31,948 33,505 A 1,557
I 22 HRAY (23 HS D) 31,948 33,505 A 1,557
201 L2 Y| 16,228 19,705 A3,477
01 At 2 el 16,228 19,705 A3477
Opts g 54,5902 x 14 x 128 9,172
OEETL] 7,0002 * 142 %641+ 122 7,056
202 01H] 11,520 9,600 1,920
01 2U0i b 11,520 9,600 1,920
OZE=0iH| 10,0002 * 12 +82 + 122 11,520
203 &R = b 4,200 4,200 0
04 EASYALREAY| 4,200 4,200 0
ORM2YAL =T 350,0002 x 12 4,200




